L

B a7 g K £

109 SRS 2 EHIREI Gt R

LN SEE N
& OE GO B AW RE A (GIER A E R PRES SR ES (B R A bh R
IHH TR N8

—ELR | TRESR | SO | TOOESR | TAEGR | NEESR | EESL | A B T 4 % A H 5 %

WHSeRT 5620 43 15 16 14 7 3 5 103 1.83 1 0.02

KEEES 5847 8 11 8 6 33 0.56 13 0.22

eI 11467 51 26 24 20 7 3 5 136 1.19 14 0.12

%1 EHo 3 13 H




I

AL N

109 SRS 2 EHIREI Gt R

LEERE TR Rt LBl

&R B A K BEEMGERERR | REERE bR thR
B x| TR N8
—AERR | RS | SRR | TUESL | A B | EH OO % | A E | H 4 %
HR[E SR 2 202 0 0 1 0 1 0.50 0 0.00
SR
TEEEE SCEE £ 203 0 1 0 0 1 0.49 0 0.00
B2 290 1 2 0 0 3 1.03 0 0.00
e (REEEEA 156 0 1 2 0 3 1.92 1 0.64
WEERELEL TR EE £ 172 0 1 0 1 2 1.16 2 1.16
TARTIEEZ 363 2 2 0 0 4 1.10 0 0.00
TEE
MRk TRZEE 24 517 2 0 3 2 7 1.35 6 1.16
TEEHE 2 387 0 0 0 1 1 0.26 1 0.26
EHELE
EalEHE 2 406 1 1 2 0 4 0.99 2 0.49
BT IRE 2 436 1 0 0 0 1 0.23 0 0.00
EEET
W TAEEE L 173 0 0 0 1 1 0.58 0 0.00
HRIERE | KRPEEE L 237 0 1 0 1 2 0.84 1 0.42
BHREG | BRELEHIRIEE A 119 0 2 0 0 2 1.68 0 0.00
B2 H 13 H




e

2. 354 Agpgnt F— A Ft—p N

g 17 g K £

109 SRS 2 EHIREI Gt R

®HEGBRE NR

REAEASER A EER

RNERSRIREMEER A R

Bl x| TR N
AR | TAEM | S | S | A B | H o H% | A% | B S %
AEBE T By (AR EER BRI T AR ER 24 90 1 0 0 0 1 1.11 0 0.00
JOERE — Rl st 5847 8 11 8 6 33 0.56 13 0.22
=3 H 13 H




I

AL N

3. IF A A F T (AL L5 L)

109 SRS 2 EHIREI Gt R

— &EGOR 2 AR A (SIER AR | SR G IER A b
il ENG

MNEC e | | =tpa | rotesn | Hae | or e L B | E S b | A B | B 5 E%

RED L EER MR R (A RELRL) | 15 1 1 O 0] 0| 010 2 13.33 0 0.00

R SR A RE T 56 | 1] 0ol O0 ]| 0] O 1 1.79 0 0.00

TR ATE LT 20 | 1 L O] 0] 0O 1 4.76 0 0.00

JFE S b5 E AT RE 13T 320101 0] 010 1 3.13 0 0.00

R SR 2 AR R R T 1 O[O0 /|0 | 110 1 100.00 0 0.00

X

LSRR LA B BT 37 |10 | 2 |1 1 5 13.51 0 0.00

JE& S B ST AT A B B T 43 1|0 | 1|0/ 0 2 4.65 0 0.00

R SR A LT 29 0|00 | 0] 0] 0|1 1 3.45 0 0.00

B BB ST AT D 21010000 1]0 1 4.55 0 0.00

B2 L rE DT 64 | 2 | 0] 0| 0| O 2 3.13 0 0.00

HERE P LA LI 79 | 1 10| 0|0 2 2.53 0 0.00

(BB A E LI 126 0| 1] 0] 010 1 0.79 0 0.00

FA4H L BHE




e

g 17 g K £

3. IF A A F T (AL L5 L)

109 SRS 2 EHIREI Gt R

— & OE GO B A RS (EAERAER | NSRBI AR ELR
e x|
ANBU | — o | = o | usesn | mamsm | omem | e | A w0 | B o b | A B | H 4 H%
S AR TAA R IR 11= w3 43 1 0 0 0 0 1 2.33 0 0.00
YRR R T AZES 2 hE T 151 | 1 0 0 0 0 1 0.66 0 0.00
R rhE 3T 29 0 0 0 1 0 1 3.45 0 0.00
HIER[E
BRI TR LM LAEREDE | 37 3 1 1 0 0 5 13.51 0 0.00
(B L LT 12 1 0 0 0 0 0 0 1 8.33 0 0.00
YRR TR 2T 29 0 2 0 0 0 0 0 2 6.90 0 0.00
TARTEELmE LI 194 | 2 0 0 0 0 2 1.03 0 0.00
MR TAEEE S hE LI 237 | 1 0 1 1 0 3 1.27 0 0.00
(EEE TREEAM R TAEEE 2B+ 136 | 1 1 0 0 0 2 1.47 0 0.00
TEARE
Be R TR A AThE DT 33 1 0 0 0 0 1 3.03 0 0.00
+TARTREZZFEHELIT 20 1 0 0 0 0 1 5.00 0 0.00
IR TR ATiE LA R SR T 69 0 0 0 1 1 2 2.90 1 1.45
=S5 H o 13 H




I VAL N 109 BEES 2 SHIIREEGETR

3. IF A A F T (AL L5 L)

\ BEE AR RS
N &GO B AW PRES SRR (B R A bh R
A =
e A L -
| AR | AR DU | TSR NER || AN B | H S % | A B | T 4 H%
57| PR 7k 4 2% hE AT R B TE 11 0 0 1 0 0 1 9.09 0 0.00
TARTIZE 202 EHETEREDE | 53 0 0 0 1 2 3 5.66 0 0.00
TARTIEE LML 65 0 0 0 0 0 0 1 1 1.54 0 0.00
TEERE \
MR TAEEE S LI 69 1 1 0 1 0 0 0 3 435 0 0.00
IR TR ATIE 3T 13 0 1 0 0 0 0 0 1 7.69 0 0.00
PRI ER L T FEHSE AT I 18 1 0 1 0 0 0 0 2 11.11 0 0.00
EEHELE LT 127 | 1 0 0 0 0 1 0.79 0 0.00
ST A iE DT 52 0 0 0 1 0 1 1.92 0 0.00
LORRES 2 hH DT 30 2 0 0 0 0 2 6.67 0 0.00
EHERT
EHEREME T ENEH T 175 1 | 1 | 1| 1|0 4 2.29 0 0.00
s S LU T I e e N3 500310 1] 0|00 3 5.88 0 0.00
TEEMHFEATHE L ER ST 58 0 0 0 0 1 1 1.72 0 0.00




I VAL N 109 ERAFFEEs 2 EBRUHMIREBARARETR

3. IF A A F T (AL L5 L)

o SEEE (LRI E
— &GO B AW N PRES SRR (B R A bh R
e A L +
| AR | AR DU | TSR NER || AN B | H S % | A B | T 4 H%
EEEHE LML 84 1 1 1 1 0 0 1 5 5.95 0 0.00
EalEHE LI 9 2 0 0 0 0 0 0 2 22.22 0 0.00
B EfT \
TEE AT LI 12 1 0 0 0 0 0 0 1 8.33 0 0.00
ANTEREHVTFeFT DT 5 0 0 1 0 0 0 0 1 20.00 0 0.00
BT IRE LT 316 | 2 0 0 0 0 2 0.63 0 0.00
WAl TR A mE 125 | 1 1 0 0 0 2 1.60 0 0.00
Ay S S A R N1 we oA 43 1 0 0 0 0 1 2.33 0 0.00
Bl TIRE 2 hE e DT 92 0 0 1 0 2 3 3.26 0 0.00
EEET
AN TAREE A hE LA R T 98 0 0 0 1 0 1 1.02 0 0.00
PR GRS e T IE AR ST | 53 2 0 1 0 0 3 5.66 0 0.00
BT RRE LML 40 0 0 0 0 0 2 1 3 7.50 0 0.00
Bl TR L 11T 68 0 0 0 0 0 0 1 1 1.47 0 0.00




I VAL N 109 ERAFFEEs 2 EBRUHMIREBARARETR

3. IF A A F T (AL L5 L)

BEE AR RS
N &GO B AW PRES SRR (B R A bh R
A =
e A L +
| AR | AR DU | TSR NER || AN B | H S % | A B | T 4 H%
EEEG | TR T A LT 27 0 1 0 0 0 0 0 1 3.70 0 0.00
JiE BT ATRE T 38 2 0 0 1 0 3 7.89 0 0.00
HrRFERRE |RZERIELEL TREEE 2 hE I 41 0 0 1 0 0 1 2.44 0 0.00
HrER R ELES 2 i BR 7P L I 21 0 0 1 0 0 0 0 1 4.76 0 0.00
SEEEBLEUR ST AT hE T 43 0 2 0 0 0 2 4.65 0 0.00
Ko EBIR | BRECE GRS A RECAKHEELE | 18 | 0 | 0 | 0 1 0 1 5.56 0 0.00
ERELE N EELERVIEALERYH | 68 | 0 | 0 | O | 1 | O 1 1.47 0 0.00
EapRHEE ZiH DT 58 0 0 1 0 0 1 1.72 0 0.00
A BEH T B e
LEapRlEE Al DE 27 1 0 1 0 0 0 0 2 7.41 0 0.00
FE-BE
oot 33231 23 | 6 4 5 0 38 1.14 0 0.00
-5
oot 993 | 9 7 5 2 0 3 5 31 3.12 0 0.00




I VAL N 109 ERAFFEEs 2 EBRUHMIREBARARETR

BFF A ga F -yt (RLFI 5T AR BIT)

RERA (EER AR
" B EGE B NH RESSE IR B A E R AR R
TERE =
[l NS s -
— AR | AR | SRR | VUS| TR | N AR N B | H O % | AN B H 4 %
FERERPE
TE+HE 1304 | 11 2 7 7 7 34 2.61 1 0.08
4t




fetas B Or g gt KB 100 ERFREE 2 EMIRSHIELER
4. FFH4IR B ETE

(DREE © GEHJE)

B2 OB O —fRE FHARE
ZEER 12 253 A Kok
S 12 B0y R R
R 12 B 0r R g v
R 12 B or R g
HEER 2/3 BLOYR Kok
RN TR 2/3 BRAY R Rk
EAREE
FM - EERET B 2/3 By Rk v
fhst -

(QUUIFERT : GHHLR)
B B O & s Rk
FRIER H 2 H%5) Y y

10 H #13H



(SR VAL PN 100 ERIEE 2 EMPREREHTR
5. IF R A EI—p A

R N G

(—)EERkdE: 13

1O SR I 0

2 REHIE 11

3IERIEFEFIRET

()BTRS

LERITA Redd

SO ||

2.8 RBRIFEIE R

—
(o¢]

(E)E@EAG:

1LEE=

2.5

3. ARG AT

L BINER S

5B E

6.5 IR R

() HAt i

(F)EERINZR

(N)PEC

— P, O ||| |WI|H

() EAh

D
4 i

o

(98]
W

FUHE H1BH



e - RV 100 ERIEE 2 EMPREREHTR

6. IFRF AL (FALIT L5 AR EIT)

R N G

()RS

1B R A K e e

2 IREHIE

3IERIE IR

()BTRS

LERITA Redd

S| o ||| |O|-

2.8 RBRIFEIE R

E)EEHAE: 91

1LEE=

S | o0

2.5

3. AT HA AR SR A 29

4 EmHARE RG2S 52

5B E

(TH) HAt i

(F)EERINZR

(N)EC

O [— | —m ||

() EAh

4 g 103

o

FR2HE H1BH



1.

et VAL N 100 EMERFE 2 EMMREHIELRR
E O S Lk
Ji= N
()RS 14
1 BE R A KR e B 0
2 REHIE 12
3 JERAE AR 2
(COERITHE: 0
LIBATA Bk 0
2B HRIBETE KR 0
E)EEBN & 109
1.E*H 12
2 HHES 7
3. A HAA T A 32
4 IR E AR AT 2 56
5858 AE 2
6. IR AHEL 0
(o) H A =Ry 0
(FL)EE R Z& 1
(FN)PET 2
(o) HA 10
a5 g 136

FBH - H1BH




